

06/06/2025 09:30 AM | Delivery and installation 06/07/2025 02:00 PM | Installation Touch ups & Stand by 06/07/2025 04:30 PM | Event Date 06/07/2025 10:30 PM | Strike

PO: Shipping Address: Waldorf Astoria Alyson Fox Events 4208 klump avenue Studio city, CA 91602

**Invoice Date:** 

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Cocktail Area					
	Baskets For Merch Booth Mart Side	1	\$108.00	Т	\$108.00
	Prices will Finalized once Purchase 12 Pieces				
	Fabric Treatment in Stock Color Black with Valance will Confirmed once we are done with design on the merch Booth - 45'x 12'h with Valance in Turquoise matching the Shelves	1	\$1,020.00	Т	\$1,020.0
	Barbacks - Arched - Small - Multicolor Outside + Front facing edge - Painted BEHR Perfect Sky P510-5 Inside + Shelves Painted same as photo - 4'W x 8'H	2	\$300.00	T	\$600.00
			Total Cocktail Area		\$1,728.00
Fabric For all Ba	allrooms				
	Extra Blush Velvet Fabric to Cover Bimah 45.5"L x 33"W x 30"H	1	\$0.00	Т	\$0.00
	Perimeter Draping - Blush Velvet - 380'W x 12'8 Height With Valance, Pullbacks to Be double Sided and entrances Middle Divider Double sided with 1 main Pullback and 2 smaller on the side	1	\$8,160.00	T	\$8,160.00
		Total Fabric For all Ballrooms			\$8,160.00
Middle Section					
744	Dj Booths - Customizable Front & Sides  POp Ink to Create A cover for it  Painted BEHR Lavender Sky P540-4  6'W x 30"D X 40"H - Can be custom painted and/or decal	1	\$300.00	T	\$300.00
	Pillows for Banquets 8- 18" x 18" or 20"x20" - 4-Kidney- 14"x26" Turquoise - Lilac - Hot Pink - Meadow - 2 Kidney in Turquoise Velvet To Be customized Client to Keep	12	\$30.00	T	\$360.00
	Flooring	2	\$96.00	T	\$192.00
	Floor Lamp Shades in Persimon - Or tangerine Color	2	φ30.00	•	ψ1 <i>7</i> 2.00

Description		Qtty	Price		Total
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6' 6'W x 39"L x 30"H	4	\$408.00	Т	\$1,632.00
	Custom Banquette Cover in Leather	4	\$300.00	Т	\$1,200.00
	Ottomans - Standard Pod in Meadow Green Velvet 18"RND x 17"H - Cover Color Upon Request	8	\$42.00	Т	\$336.00
775	Coffee Tables - Mid - Century Teak Wood 42" x 22" x 18.5"H	4	\$204.00	T	\$816.00
R	Accent Tables - Round Mango Wood 18"d x 20"H	4	\$156.00	Т	\$624.00
<u> </u>		-	Total Middle Sec	tion	\$5,616.00
Bar Section					
	Bars - New York - Folding 8' Painted in Mahogany with Moulding Details 8'W x 30"L x 42"H - Color Change Upon Request	3	\$1,080.00	Т	\$3,240.00
	Panels - Tiffany - Wood W/ Niche & Shelves Painted Mahogany with Backing in Mirror PLexy to Create an illusion of Mirror Back 4' x 10'H	4	\$600.00	Т	\$2,400.00
	Panels - Mahogany 4'x10'H To be used as a center Piece for installation of Art work	2	\$420.00	T	\$840.00
I	Small Dining Tables - Stockholm - Marble Bistro Table with custom 48" top Made painted in Burgundy 41"Diam x 29"H	3	\$210.00	Т	\$630.00
	sub Rental Bar stools For Bars and Activities	9	\$66.60	Т	\$599.40
			Total Bar Sec	tion	\$7,709.40
Activity Stations					
	Sub rental Barber Chair for Tattoo	1	\$420.00	T	\$420.00
	Tattoo Rolling Chairs Stool Burgundy Cover	1	\$24.00	Т	\$24.00
	Table Cloth in Blush Matching Walls for Tattoo Station Blush Velvet	1	\$54.00	Т	\$54.00
	Crystal Perfume Bottle For Perfumery station	10	\$8.40	Т	\$84.00
	Decor - Vintage Hardback Books - Set Of 12 Mixed Varied Sizes	1	\$55.20	Т	\$55.20

Decor - Clock - Antique Table Clock - Black	Description		Qtty	Price	Total	
Bars - New York - Folding 8'	yii °		1	\$12.00	T \$12.00	
Painted in Mahogany with moulding details   8W x 30"L x 42"11 - Color Change Upon Request	10 12 12 10 10 10 10 10 10 10 10 10 10 10 10 10		1	\$12.00	T \$12.00	
Flat Panels 8'W x 10'H   with Floating Shelves		Painted in Mahogany with moulding details	1	\$1,080.00	T \$1,080.00	
Notes		Props - Misc - Dart Board	1	\$36.00	T \$36.00	
Custom Made Overlay Checkers - White and Black For a 48" Round			1	\$840.00	T \$840.00	
Custom Made Overlay Checkers - White and Black For a 48" Round   Strike Over lable			To	otal Activity Stations	\$2,617.20	
Custom Made Overlay Checkers - White and Blake   S   \$43.20   T   \$13	Restaurant Sect	tion				
Total Restaurant Section   \$2.5			3	\$43.20	T \$129.60	
Delivery and installation Team			3	\$43.20	T \$129.60	
Delivery and installation Team			Tota	l Restaurant Section	\$259.20	
Touch Up crew & stand by  Strike Over night  6 \$650.00 \$3,90  Transportation  2 \$375.00 T \$75  Flame Proofing  1 \$1,200.00 \$1,20  Manager on Site fee Wave  1 \$0.00 \$3  Pick up Sub rental and Manager Fee  1 \$400.00 \$40  Please make checks payable to Revelry, Inc.  Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it  Notes  Notes  Total Products: \$26,00  Wear & Tear (4.00%): \$11,00  Packing (2.00%): \$55  Taxes: \$2,56  Discounts: (\$  Total: \$41,25	Services					
Strike Over night 6 \$650.00 \$3,90  Transportation 2 \$375.00 T \$75  Flame Proofing 1 \$1,200.00 \$1,20  Manager on Site fee Wave 1 \$0.00 \$40  Pick up Sub rental and Manager Fee 1 \$400.00 \$40  Please make checks payable to Revelry, Inc.  Total Products: \$26,00  Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it  Notes  Total Labor/Services/Misc: \$11,00  Wear & Tear (4.00%): \$1,00  Packing (2.00%): \$55  Taxes: \$2,50  Discounts: (\$  Total: \$41,25		Delivery and installation Team	6	\$650.00	\$3,900.00	
Transportation 2 \$375.00 T \$75  Flame Proofing 1 \$1,200.00 \$1,20  Manager on Site fee Wave 1 \$0.00 \$40  Pick up Sub rental and Manager Fee 1 \$400.00 \$40  Please make checks payable to Revelry, Inc.  Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it Wear & Tear (4.00%): \$1,00  Packing (2.00%): \$55  Notes Taxes: \$2,50  Discounts: (\$25,50  Discoun		Touch Up crew & stand by	2	\$450.00	\$900.00	
Flame Proofing 1 \$1,200.00		Strike Over night	6	\$650.00	\$3,900.00	
Manager on Site fee Wave 1 \$0.00 \$1  Pick up Sub rental and Manager Fee 1 \$400.00 \$40  Please make checks payable to Revelry, Inc. Total Products: \$26,00  Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it Wear & Tear (4.00%): \$1,00  Packing (2.00%): \$55  Taxes: \$2,50  Discounts: (\$  Total: \$41,25		Transportation	2	\$375.00	T \$750.00	
Please make checks payable to Revelry, Inc.  Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it  Notes  Total Products: \$26,000 Total Labor/Services/Misc: \$11,000 Wear & Tear (4.00%): \$1,000 Packing (2.00%): \$55 Discounts: \$25,500 Total: \$41,250		Flame Proofing	1	\$1,200.00	\$1,200.00	
Please make checks payable to Revelry, Inc.  Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it  Notes  Total Products: \$26,08  Total Labor/Services/Misc: \$11,09  Wear & Tear (4.00%): \$1,09  Packing (2.00%): \$55  Taxes: \$2,56  Discounts: (\$  Total: \$41,29		Manager on Site fee Wave	1	\$0.00	\$0.00	
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it  Notes  Total Labor/Services/Misc: \$11,09 Wear & Tear (4.00%): \$1,04 Packing (2.00%): \$5 Taxes: \$2,54 Discounts: (\$ Total: \$41,29		Pick up Sub rental and Manager Fee	1	\$400.00	\$400.00	
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it  Packing (2.00%):  Taxes: \$2,54  Discounts: (\$  Total: \$41,25	Please make checks payable to Revelry, Inc.				• •	
Packing (2.00%): \$50  Notes Taxes: \$2,54  Discounts: (\$  Total: \$41,25						
Notes			· ·	, ,		
<b>Total</b> : \$41,25	Notes			- , ,		
				Discounts:	(\$0.00)	
Payments: (\$42,20				Total:	\$41,254.97	
				Payments:	(\$42,203.48)	

**Balance:** \$-948.51